
ELF引込脚のパーツ

[A] ELF引込脚 ...............................................................1組

[B] 3x10mmビス ...................................................................2

[C] 3x15mmビス ..................................................................2

[D] 引込脚カバー（プラスチック製） .......................................1組

[E] 輪ゴム ...........................................................................2

[F] フック（引込脚カバー用） ..................................................2

ELF RETRACT PARTS

[A] ELF Retract gear .....................................................1set

[B] 3x10mm Screw ................................................................2

[C] 3x15mm Screw ...............................................................2

[D] Retract gear cover（plastic） .........................................1set

[E] Rubber band ...................................................................2

[F] Hook (retract gear cover) .................................................2

ELF引込脚の取り付け　ELF RETRACT GEAR INSTALLATION

A

B

B

C

C

D

E
F

ー７ー

（１）ELF引込脚の前側の3mm皿ビスを取り外します。（このねじ穴を

使ってELF引込脚を取り付けます）

When ELF retract is used, remove the 3mm mount plate, then 

secure retract in place using  mounting holes.

胴体の前側から差し込むようにしてELF引込脚を搭載します。

Landing gear is installed through canopy opening.

ELF引込脚の前側は3x15mmビスで胴体に固定します。

Fix the ELF retractable landing gear in fuselage with 3x15mm screw 

[C].

ELF引込脚の後ろ側は3x10mmビスで胴体に固定します。

Fix the front of the ELF retractable landing gear from the outside of 

the fuselage with 3x10mm screw [B].

ELF引込脚がうまく動作するかチェックしておきます。

Check that the landing gear deploys freely and is able to lock in 

position.

F
このパーツを使います  (Use gray shaded parts)

ビスを取り外す
Remove 

後

[C] 3x15mmビス

[B] 3x10mm ビス

[B]3x10mmビス

[C]3x15mmビス

3x10mm screw [B]

3x15mm screw [C]


